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Which of the following is a wrong statement?

(A) All the minerals are not ores

(B) All the ores are not minerals

(C) All the ores are minerals

(D)From ores, metals can be extracted economically

Identify the irrigation canal which originate from the Harike Barrage in Ferozepur district of Punjab
(A) Bhakra canal (B) Indira Gandhi canal
(C) Sirhind canal (D) Bist Doab canal

Assertion (A) : Extra — Tropical cyclones are formed in mid — latitudes.
Reasoning (R) : The warm and cold fronts converge in mid — latitudes.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(C) (A)is true but (R) is false

(D) (A) is false but (R) is true

The Jog fall is located on the river
(A) Sharavati (B) Cauvery (C) Krishna (D) Godawari

river is called the ‘Red river’ of India.
(A) Ganga (B) Kosi (C) Damodar (D) Brahmaputra

Tea gardens over small mounds of this region is called as ‘Bheels’
(A) Brahmaputra valley of Assam

(B) Surma valley of Assam

(C) Western Ghats of Tamil Nadu

(D) Western Ghats of Kerala

Match List - I with List - IT :

List-1I List — II
International Airport City
(a) Dr. Babasaheb Ambedkar 1. Gauwahati
(b) Ch. Charan Singh 2. Varanasi
(c¢) Lal Bahadur Sastri 3. Lucknow
(d) Lokpriya Gopinath Bordolio 4. Nagpur
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(A) 4 2 1 3
(B) 3 2 4 1
© 3 4 2 1
(D) 4 3 2 1
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The longest Inland water way of India is
(A) Kurnool - Cuddapah Canal (B) Damodar Canal
(C) Sadiya - Dhubri Canal (D) Holdia - Allahabad Canal

Match List I with List IT and select the correct answer using the codes given below:

List I — Planets List IT — Revolution Period
(a) Mars 1. 88 days
(b) Earth 2. 225 days
(c) Mercury 3. 687 days
(d) Venus 4. 365 days
@ ) @© @@
A) 3 4 2 1
B) 3 4 1 2
© 2 4 3 1
(D) 2 4 1 3

The term ‘seismic gap’ refers to
(A) A region (B) A period
(C) A disaster (D) Seismic prediction

In which of the following option, the Indian states are arranged in descending order based on their

size of population?

(A) Uttar Pradesh — Bihar — West Bengal — Maharastra

(B) Bihar — West Bengal — Uttar Pradesh — Maharastra

(C) Uttar Pradesh — Maharastra — Bihar — West Bengal
(D) Uttar Pradesh — Maharastra — West Bengal — Bihar

Match List — I (Planet) with List — IT (Moon):

List — 1 List — II
(a) Jupiter 1. Triton
(b) Saturn 2. Miranda
(¢) Uranus 3. Europa
(d) Neptune 4. Titan
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A) 3 2 4 1
(B) 1 3 2 4
©) 3 4 2 1
(D) 4 3 1 2
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